
DY-MY8123

Accent chair

D

E

F

Back

Front left leg

Runner

Front right leg

（M6*45） （M8*50）

Page 4 of 5

Page 4of 5

2

Page 4 of 6

Page 1 of 5

Page 2 of 5

Page 3 of 5

1Step

Assembly Instruction

Insert the Back（A）onto the clamps on seat frame，
push until the bottomStep

Slide the Wings down into the slider on the Back(A) 
sides, push down to ensure it clamps.

Flat Washer

Page 5 of 5

3Step

Adjust the balance of the chair, then tighten all the scerws to 100%

Assemble the legs on seat frame, 
Screw should be secure but not completely tightened.

D

E

F

G

Back

Left wing

Runner

Right wing

（M8*45）

（M6*25）

（M6*20） 4

Page 2 of 5

H5

Plastic Washer

4

4

DY-MY7076

Dining chair

Page 1 of 4

Assembly Instruction

H4

H5

H8
M8

D

Back

（M8*60）

Page 2 of 5

Self-tapping screw

H4
M8

E PILLOW

Washer

2Step

Front Stretcher

Side Stretcher

Spring Washer

（M8*75）

5

4

6

9

9

1

Assemble the seat on the back, 
Screw should be secure but not completely tightened.

H6

H4

H5

H6

H4

H5

H6

H6

H4

H5

H4 H5

H6

D

D

E

F
F

A

BC

B*2

C*2

D*8

E*8

F*8

G*1

A*1

（M8*50mm）

3

Put the screws in the holes,tight the screws,but not too tight.90% is ok.

Back

5

9

9

H5

（M8*75mm） 4



DY-MY8123

Accent chair

D

E

F

Back

Front left leg

Runner

Front right leg

（M6*45） （M8*50）

Page 4 of 5

Page 4of 5

2

Page 4 of 6

Page 1 of 5

Page 2 of 5

Page 3 of 5

1Step

Assembly Instruction

Insert the Back（A）onto the clamps on seat frame，
push until the bottomStep

Slide the Wings down into the slider on the Back(A) 
sides, push down to ensure it clamps.

Flat Washer

Page 5 of 5

3Step

Adjust the balance of the chair, then tighten all the scerws to 100%

Assemble the legs on seat frame, 
Screw should be secure but not completely tightened.

D

E

F

G

Back

Left wing

Runner

Right wing

（M8*45）

（M6*25）

（M6*20） 4

Page 2 of 5

H5

Plastic Washer

4

4

DY-MY7076

Dining chair

Page 1 of 4

Assembly Instruction

H4

H5

H8
M8

D

Back

（M8*60）

Page 2 of 5

Self-tapping screw

H4
M8

E PILLOW

Washer

2Step

Front Stretcher

Side Stretcher

Spring Washer

（M8*75）

5

4

6

9

9

1

Assemble the seat on the back, 
Screw should be secure but not completely tightened.

H6

H4

H5

H6

H4

H5

H6

H6

H4

H5

H4 H5

H6

D

D

E

F
F

A

BC

B*2

C*2

D*8

E*8

F*8

G*1

A*1

（M8*50mm）

Put the screws in the holes,tight the screws,but not too tight.90% is ok.

Back

5

9

9

H5

（M8*75mm） 4

H5

H5

A

B

A

B

C

C



DY-MY8123

Accent chair

D

E

F

Back

Front left leg

Runner

Front right leg

（M6*45） （M8*50）

Page 4 of 5

Page 4of 5

2

Page 4 of 6

Page 1 of 5

Page 2 of 5

Page 3 of 5

1Step

Assembly Instruction

Insert the Back（A）onto the clamps on seat frame，
push until the bottomStep

Slide the Wings down into the slider on the Back(A) 
sides, push down to ensure it clamps.

Flat Washer

Page 5 of 5

3Step

Adjust the balance of the chair, then tighten all the scerws to 100%

Assemble the legs on seat frame, 
Screw should be secure but not completely tightened.

D

E

F

G

Back

Left wing

Runner

Right wing

（M8*45）

（M6*25）

（M6*20） 4

Page 2 of 5

H5

Plastic Washer

4

4

DY-MY7076

Dining chair

Page 1 of 4

Assembly Instruction

H4

H5

H8
M8

D

Back

（M8*60）

Page 2 of 5

Self-tapping screw

H4
M8

E PILLOW

Washer

2Step

Front Stretcher

Side Stretcher

Spring Washer

（M8*75）

5

4

6

9

9

1

Assemble the seat on the back, 
Screw should be secure but not completely tightened.

H6

H4

H5

H6

H4

H5

H6

H6

H4

H5

H4 H5

H6

D

D

E

F
F

A

BC

B*2

C*2

D*8

E*8

F*8

G*1

A*1

（M8*50mm）

Put the screws in the holes,tight the screws,but not too tight.90% is ok.

Back

5

9

9

H5

（M8*75mm） 4

A

B

C

H5

C

B

A

H5

H5



DY-MY8123

Accent chair

D

E

F

Back

Front left leg

Runner

Front right leg

（M6*45） （M8*50）

Page 4 of 5

Page 4of 5

2

Page 4 of 6

Page 1 of 5

Page 2 of 5

Page 3 of 5

1Step

Assembly Instruction

Insert the Back（A）onto the clamps on seat frame，
push until the bottomStep

Slide the Wings down into the slider on the Back(A) 
sides, push down to ensure it clamps.

Flat Washer

Page 5 of 5

3Step

Adjust the balance of the chair, then tighten all the scerws to 100%

Assemble the legs on seat frame, 
Screw should be secure but not completely tightened.

D

E

F

G

Back

Left wing

Runner

Right wing

（M8*45）

（M6*25）

（M6*20） 4

Page 2 of 5

H5

Plastic Washer

4

4

DY-MY7076

Dining chair

Page 1 of 4

Assembly Instruction

H4

H5

H8
M8

D

Back

（M8*60）

Page 2 of 5

Self-tapping screw

H4
M8

E PILLOW

Washer

2Step

Front Stretcher

Side Stretcher

Spring Washer

（M8*75）

5

4

6

9

9

1

Assemble the seat on the back, 
Screw should be secure but not completely tightened.

H6

H4

H5

H6

H4

H5

H6

H6

H4

H5

H4 H5

H6

D

D

E

F
F

A

BC

B*2

C*2

D*8

E*8

F*8

G*1

A*1

（M8*50mm）

3

Put the screws in the holes,tight the screws,but not too tight.90% is ok.

Back

5

9

9

H5

（M8*75mm） 4


